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Attempt the following questions briefly.

(11 x 3 =33)
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Vhat is meant by limitation of measuring
instrumente? Discuss the limitation of Vernier
calipers. .

Yvhat is meant by moment of force (Torque)?
On which factors it depends? Explain briefly.
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" |'is the measurement taken by Screw gauge State condition of equilibrivm, Give their|
more precise than by Vernier calipers? Give mathematical expressions.
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{(iii) | Express the following quantilies using suitable Differentiate between rotatery motion and
prefixes: circular motion with examples. -
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|tiv} | Demonstrate that rolling friction is much lesser Why is outer edge of road kept higher on
than sliding friction, 03 | ogr | circular tum? ) 03
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|v) | Acar starts its motion and accelerates at 2m/ 5 Calculate the value of "g” at the height of 1500
Find its velocity after covering distance of Tkm. km above the surfage of earth.
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IV | The masses of earth and moon are 6.0210% kg Explain the situation when 'A car is meving
and 74x10” kg respectively. The distance Et?hr?s TS O R eoReinImin i Sranis
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{vif) | How much energy ¢an be obtained from 40 g of Why a system cannot have an efficiency of
Uranium? 03 | or | 100%7 Explain briefly. 03
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{viil} | Can a body be in equilibrium under the action of Why is mercury considered most suitable
a single force? Give reason, 142 | or | thermometric materiai? 03
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{ix} | What changes are expected in weather if the Birds fluff their feathers in winters. Explain in
baromater shows increase in atmospheric| 45 context of heat transfer.
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(x} | Briefiy explain the following: Why are _rnalals good conductors of heat?
.J_f..-::u;f?&i-b» Explain briefly.
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(xi} | What is conduction of heat? Why are gases Which matetial is more elastic steel or rubber?
pocrest conductors? Explain briefly. 142 | or | Give reason, 12
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Note: Attempt the following questions.

SECTION = C (Marks 20)

(4 x 5 =20)
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Q.3 | What is meant by resuitant force? How is What is meant by thermal expansion in solids?
.. { resultant force determined by using head to tail Derive expression for linear thermal expansion
rule? Explain with diagram. - in solids.
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Q.4 | What is meant by force and momentum?-What| What is orbital velocity? Deriveé an expression
is the relation between force and momentum? | for it. Alsa calculate value of orbital velocity of a
Explain in detail. _B"_’ - satellite close to the earth. 149
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Q.5 | State Archimedes principle. How Archimedes Drive expression for acceleration and tension in
principle is helpful to find the density of an string using Atwood machine.
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Q.6 | A ball of mass Skg is thrown upward with Derive 3™ equation of motion by using speed
velocity of 12ms™ |, find: time graph.
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b Potential Energy at Maximum Height 25 :
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E=mc o F=ma « F,=T-W
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